MATHEMATICS (Std X) -~ .
. ‘ ...“(TWO liours and a half) .o ”
Answers to this Paper mlm‘ be written on the paper provided separately, *
You will rot be allowed fo write during the first 15 minutes.
. This time is to be spent in reading the questionpaper. '
The time given at the head of this Paper is the time allowsl Jor Writing the dnswers.

~

L .

Attempt all questions from Section A and an y four questions Jrom Section B.
All working, including rough work, must be clearly shown and niust be done on the same skheet asthze

- restof the answer. Omz’.’ssio_:g of essential working will result in loss of marks. The intended marks for

questions or parts of questions are given in brackets [ ]. Mathematical tables are provided. .

B

. SECTION A (40 Marks)

' ' s Attempt all questions from this Secticn
Question 1. N ] :

L -

A - Solve for x and give your answers correctup to three significant figures: ) (3]
#-10x+6=0" .

B If(x - 2)isafactor of 2x® — x% — px —.2, ‘ . _[3]
(i} - find the value of p, ' o

—- (i) ~-with-the value of p., factorize t_hé:expression completely. . - _

. (' Inthe‘gl!e—n_ﬁgurf?_gsq p_oinﬁ_gix_;ﬁB suc»li;t‘}{ht_i{l_’: BP=4:3, PQis parz'ill'élrio'Aé.-; . [4_] am

i) Calculate the ratio PQ : AC, giving reason for your answer. .
- i) In AARC, £ARC=90° and in APQS, £PSQ =90°, Given that QS = 6 cm,

calculate the length ofAR, AMB'KA B“OOK DEPO
- - * " ShopNe. 1, Rangoli, VasantUtsay,
| SO Thakur ¥ilage, Kandival (E),
Mumbai - 400 104,

Question 2 : Mob. 9821263050, =
A Solve the following inequation. Represent the solution on the number lige, Bass il SR |- |
-8 1 1 '
—3Sx+ <342,y
3 Sx 3 3+ 3 € R
) @ Ifa,b,c,d arein GP. Prove that a + b,b+ c,'c +d are also in GP. . ' [3]
43
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C Inthe given figure O Is the centre of the circle. Tangents at A and B meet at C. I o [4)
2ACO = 307, find (i) £BCO (ii) 2AOB (ii)24PB.

C

Question 3 _
A I O B & L A R 3
IfA= [_1 2], shcw that‘_p‘,z'_@s-A +;“7’(.;= 0. 3]
B Prove that:-

A . - [3]
1 1 B 2s5in8 - -

+
cosl + sinf _ sinf —cos6 - 1— 2cos*

C  Ramesh has a cumulative time deposit account in a bank He debosits T 600 per [4]
month for 6 years. If at the end of maturity period he gets ¥ 53712, find the rate of

interest. :
Question4
A arks obtained by 40 studénts in a short assessment is gi‘ven below, where a and b. (3]
,Are two missing data. If the mean of the given data is 7.2, find the valye ofaand b
Marks 51617 (181]9]
. No.of students [ 6 {a |16 (13| b

4

B Tickets numberec from 1 to 20 are mixed up together and then a ticketisdrawnat  [3]
random. What is the probability that the ticket has a number which is'a mulsiple of
3or7? ' ’ ‘

C  Thevolumeofa conical tent is 1232m? and the area of the bare floor is 1‘54mz (4]
Calculate the

(i) radius of the floor,
(ii)  heightof the tent,
s (iii)  length of tae canvas required to cover this conical tent if jts widthis 2m

7 - |
&Y
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. -SECTIONB (40 Marks)
Attemptany four questions-from this section
QUESTION S: .~ S N
- A The 4% term of an AP. is equal to 3 times the first term and 7t term exceeds twice - - [Bj
the third term by 1. Find t}i_e first term and the common difference. ' ;

B x—y 2x+z]_[-1 5 : . - 3]
lflx—y 32+w]" 0 _13], ﬁndthevgluesofx,y,z;ndw“ - . | _

C Usegraph paper for this question (Take 1cm —1umt on bogh the axes). - [4]
Plot A (4,4) , B(4,—6) and C(8,0), the vertices of a tnanglc ABC.
Reflect ABC on the y-axis and nameitas A'B'C’. -
,Qﬁ)/ Write the co-ordinates of the images A',B‘and C'.
C @ Give a geometrical name for the figure AA'C'B'BC.

> rad

: . H —— e e S —— —————— i — i LA -

S -~

.2
QUESTION 6: 2

A  Write down the cuordthates of the point P which divides the line joining A(~4,1)  [3]
.and B (17, 10) in the ratio 1: 2. Calculate the distance OP, where O is the origin.
In what ratio daes the y-axls divide the line AB’

B Ifsin A + cos. A= p and secA+ cosecﬁ ‘then prove thatq (pz 1) Zp : (3]

C Inthegiven Fgure ABC is a triangle with ZEDB=ZACB. Prove that AABC~AERD. .
If BE=6 cm, EC= 4 cm, BD=5cm and area ABEDLD e eatciilae :
(i) length of AB, .r
* (ii)) areaofAABC. |
BOOK DEPOT
No. 1, Rangoll, yasant Utsav,
Thakur Village, Kandivall (E)
Mumbai - 101,
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_ QUESTION 7: e, - :

Prove the following statement = {"“i T

The angle between a: tangent and a chord through the pomt of contact is equal to ,

angle in the anternate segment.

‘B aolvetheequatlon 1+4+7+10+ e x =287 . -t
C  Inaschool the weekly pocket money of 50 students isas follows
Weekly pockeE money ini‘ ' 40 50 50-60 60-70 | 70-80 |-80-90 | 90-100:
No.ofstudents” =~ | .2 8 ., 12 14 8 _
g enih g ovwﬁus
Draw a histogram and find the mode from the graph. \ﬁp‘ SN R e
L e p‘\“e\ Ra“go ‘a ﬂ\"a\\\ |
smv ot w\\\“?‘.r.,m W
gt 1\\‘ ““mba\f oy o
QUESTIONSB: _, N i
: - W% ;

A A cylmdncal tub of radius 12 cm contams watertoa depth of 20 cm. A sphencal iron
ball is dropped into'the:tube:and thus. the level of the water is ralsed by 6 75 cm.
What is the radius of the ball?

B Find the value ofk ifthe lines represented by kex - ~5y3-4=0 anid 4x - 2y+5— Oare
Derpendlcular to each other .

C Using the ruler and compasses only |
Construct triangle ABC with the followmg data: AB 3-Scm, BC == 6¢cm and
£ABC = 120° . _

In the same diagram, draw a circle with BC as diameter. Find a point P'on the
circumference of the circle which is equidistant from AB and BC.
Measure angle £BCP.
QUESTION 9: ~ ’
A

In an auditorium seats are arranged in rows and columns. The number of rows was

cqual to the number of seats in each row. When the number of rows was doubled
and number of seats in each row was reduced by 10, total number of seats intreased

b_x__OO

, Fmd

(i)  The number of rows in the original arrangement.

(ii)  The number of seats in the audltoriinj:r the FE-arrangemc'nt,

.__-‘-
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B Marks obtamed by 200 students i in an examination are given below

. - [6]
lMark 0-10 |10- |20- |30-"|40- {50- |60- [70- [80- |90

B | 20 |30, 140 (50 le0 |70 |80 |90 {100 |
|Freq| 5 |11 | 10 | 20 | 28 | 37 | 40 | 29 | 14 | ¢

Draw an ogive for the given dxstnbutlon taking 1em = 10marks on one axis and
lcm = 20 students on the other axis. Using graph, determine -
) Median marks

- (i)  The number of students who failed if minimum marks reqmred to pass is
40

QUESTION 10: '

- -A. Inthe figure;ACis the diameter of the circle with centre 0. Chord BD is - (3]
. perpendicular toAC. Write down the angles p, q and r in terms of x. ’

ol
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B  Usingthe pmpernes ofpropornon solve for x, given ’ [3]
x*+1 17
2x2 8
C From the top ofa chﬁrch spire 96m high, the angles of depression of two vehicles on {4}
a road, at the same Ievel as the base ofthe spire and on the same side of itare x° and
y°, where tanx® = -and tany = - Cwlculau. the distance between the vehicles.

— s, St i e
mc— ————
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QUESTION 11: 5
A

What sum shéuld Ashak mvest‘m;?;ZS shares sellmg at T 36 to obtam an mcome of
720, if the dmdend declared is 12%? Also, find

-, he number of Qhares bought by Ashok,

£32N ..
iy ne p lLLnLdgE e:.urn on nls 1nvescment.

B Imaingie AR AG ;ﬂs>;a'ci?si--ccl 10,
A DA A

9 BD perpendlcular to A Construct a c;rcle through B, C and D Co
‘ from A to the cuj_c_:le_‘_ . B

i @@@@@@@@Alﬁrhc Best O90OO00®
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